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1. A particle P is moving in a straight line with simple harmonic motion of period 4s.
The centre of the motion is the point O

At time t = 0, P passes through O

Attime t = 0.5s, P is moving with speed 2ms™!

42

(@) Show that the amplitude of the motion is ——m
T

(4)

(b) Find the maximum speed of P
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2.

In this question solutions relying on calculator technology are not acceptable.
A particle P of mass 2kg is moving along the positive x-axis.

At time t seconds, where t > 0, P is x metres from the origin O and is moving away from
1

O with speed vms™ where v= ————
(2x+1)

. ) . . 1
(@) Find the magnitude of the resultant force acting on P when its speed is 3 ms!
(6)
When t=0, PisatO

(b) Find the value of t when P is 7.5m from O
(5)
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P(m)
E
=1
Figure 1
A particle P of mass m is attached to one end of a light elastic spring of natural length |
and modulus of elasticity kmg, where k is a constant. The other end of the spring is fixed
to horizontal ground.
The particle P rests in equilibrium, with the spring vertical, at the point E.
. . . 3 -
The point E is at a height gl above the ground, as shown in Figure 1.
5

(@) Show that k = 5

)

. . . 1 .

The particle P is now moved a distance ZI vertically downwards from E and released
from rest. Air resistance is modelled as being negligible.
(b) Show that P moves with simple harmonic motion.

(4)
(c) Find the speed of P as it passes through E.

(4)
(d) Find the time from the instant P is released to the first instant it passes through E.

(2)

J
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4. Alight elastic string has natural length 2a and modulus of elasticity 2mg.
S . ) ) |
One end of the elastic string is attached to a fixed point O. A particle P of mass 5 m is
attached to the other end of the elastic string.
The point A is vertically below O with OA = 4a.
Particle P is held at A and released from rest. The speed of P at the instant when it has
moved a distance a upwards is /3ag
Air resistance to the motion of P is modelled as having magnitude kmg, where k is a
constant.
Using the model and the work-energy principle,
1

(@) show that k = 2

()
Particle P is now held at O and released from rest. As P moves downwards, it reaches its
maximum speed as it passes through the point B.
(b) Find the distance OB.

(4)

J
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Question 4 continued

Leave
blank

14

P 71 6 6 8 A 0 1 4 2 8

EUEE

PMT!

HRRK
R
SRR
ALK

006
555
o
s
ORI

O
<
‘Qee
555

%
i )%
%9

5
o
X
%o
S0t

KRR IHR

”
b

%

KERRLEARLKEARRLEK

S

GEIRRLEEIREEIRLEY

X
X
X >
0
SIS

ORI

0505
CRKLES

<
58
K

K
PeSolannte%s
DoSecozeio%
SO0 0t
o0 05

QK
s 108
<A o%
S5
P
DoSe? o7t
<AL
2

SRR
(90950509
o



6
2RSS
QKL

R
SRR

>
5
095!
K
X

%%

otodetotetetet

5>
%
dedotedes
25
CRLRLLRLRARLR,

0o
953
‘bgo‘

25
SIS
otetee!
IR
%

%

ot
RREK
o%
<5

XA
XA
St
DZ‘ AV
O30

¢
%
>
(et
RRRLKRLRS

X
<X
KR

Sve%
0%
RKS

(>
X ):0’0‘0’
%

S
&

0% %

s
0

%’
\]
é
%

" %

%
1939
A

f

535

%%
s
Si
X

S
Dotmelete!
O350 9039
950 22598
SLBIERL

9

<
o
]
‘§ua
25
o

|1

KEY

X XK
RRLRKE:

X

oleteds
+

255

>
%

00
253
teteteteltete
KLk
SERLRESS
R

S
XXX

<
fotots
bose%s

X8
29
%%}

G
9%
R
5

55

SR
SRSES,
0000
oo
QLK
RRERKRRRS

%
R
5
35K
5%

%
9%
a0
LKL

<535
9%
Qﬁg,’

O
oot setotede!
PSKEIS
) SR
SRR,

CRRKEEBEE,

et

A

A
!
%55

Rdd-

Q
KL

bt ?3
S
S
Boss o

IR LRRKLR,
SSELRRKESS

%
CRIIIEARIKIHRK

%%
e

X
QL

%
X

(RIS
SIRARNK

5
25
S
%

Sosetones
]
CRKLKLEK A

2%
258
So%e!
o

0>
RS
ot
SR
s
RRRIELRLLRRIERS

(X
5K
XY
0SS
%
<
K

OO0
53R
JBERIL
SRS
S
Se%eds
el

%
<

00
KKK
<

B

5%
5

o
S
QLKL

A
AR
o
e
‘0

2558
‘“ﬁggg Qﬁ’ éf
é$$% %ﬂ%0§3

LR ARL XK

s

o2}
o todeteds

KL
KKK

LKL
SRS
ZRLRRLRKLLS

LRKLHEK

OIS
oo

80908

R

!

050598

%
0%
o%
X2
0%
%
b

( Leave\
blank
Question 4 continued
Q4
(Total 11 marks)
& S
15
o V)P 0 01 .
P71 6 6 8 A0 1 5 2 8 Turn over

PMT



Leave\
blank
5.
A
e 6 7
<. =1
-------- 5 -
R(m)°
Figure 2
A small smooth ring R of mass m is threaded on to a thin smooth fixed vertical pole. One
end of a light inextensible string of length 2l is attached to a point A on the pole. The other
end of the string is attached to R. A particle P of mass m is attached to the midpoint of the
string. The particle P moves with constant angular speed in a horizontal circle, with both
) 6l -
halves of the string taut, and AR = 3 as shown in Figure 2.
It may be assumed that in this motion the string does not wrap itself around the pole and
that at any instant, the triangle APR lies in a vertical plane.
.. . . Smg
(@) Show that the tension in the lower half of the string is EN
®)
(b) Find, in terms of | and g, the time for P to complete one revolution.
(8)
y,
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6.
Figure 3

A light rod of length a is free to rotate in a vertical plane about a horizontal axis through
one end O. A particle P of mass m is attached to the other end of the rod. The particle
P is held at rest with the rod making an angle a with the upward vertical through O,

3
where tana = —

4
The particle P is then projected with speed u in a direction which is perpendicular to the
rod. At the instant when the rod makes an angle 8 with the upward vertical through O, the
speed of P is v, as shown in Figure 3.
Air resistance is assumed to be negligible.
() Show that v? = u? + 2%g(4 - 5c0s6)

(4)
. 6ag . . .
It is given that u? = = and P moves in complete vertical circles.
When 6=, the force exerted on P by the rod is zero.
(b) Find the value of cosf
(6)
J
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. . 1
7. [You may assume that the volume of a cone of height h and base radius r is 3 wrzh.]
A uniform solid right circular cone C, with vertex V, has base radius r and height h.
.3
(@) Show that the centre of mass of C is 2 h fromV
(4)
A solid F, shown below in Figure 4, is formed by removing the solid right circular
1
cone C' from C, where cone C' has height 3 h and vertex V
< >
2
—h
3
Figure 4
(b) Show that the distance of the centre of mass of F from its larger plane face
.3
is —h
13
(5)
The solid F rests in equilibrium with its curved surface in contact with a horizontal plane.
(c) Show that 13r? < 17h?
(®)
J
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